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Part A - Knowledge & Understanding (25) 7(0 '
I. For each relation state the domain, range and whether it is a function or not
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3. Evaluate, showsteps. 3|7 - 13| -5(13 - 9]
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4. a) Rewrite the following usmg absolute value symbol:
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b) Rewrite the following using interval Interval notation. { -5<x <4}
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5. From the nine parent functions, that we studied in section 1.3 name:
( use equation to name function)

a) one that has two asymptotes and one that has one asymptote '
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g b) a function that oscillates Y= 910X
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¢) a function that increases throughout it’s entire domain (x &R ) and does not have an
asymptote and does not have a constant slope
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e) a function with an interval of increase [0, ®)
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Part B - Application (30)

I. Use algebra to prove the following odd, even or neither.
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transformations. All transformations in one equation.
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3. Find the inverse for f(x)=-35 ( X - {/Show work.
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The point (12, - 8 ) is on the graph of y = f(x). Find the corr ponding point on the

\ 4 .
(3D graph of y 7 F(-2x - 14) + 3. Show
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Part C - Communication (| 1)

I. Describe the transformations

» In words, that would be needed to get the graph

- 9, from the parent graph y=2" ( one per line )
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4. Discuss the vertical and horizontal continuity/discontinuity for the piecewise function.| '

Use specific values.

fix)=5x - 21 for 0<x<6 and

fix)=-4x + 34 for 6<x<10
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Part D — Thinking & Inquiry (Cf\

" 1. Find the inverse of f(x) 1= J=—
O z |

2. The point (3,6 )1sonthe iphofy=2f(x+1)-4 Find the original point on
the graph of y = f(x) that was t1an formed to (3,6 ). Show work,
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3. State the domain and range for fx)= = - 8.
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